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General Instruchons ‘j

(i) All questions are compuisary

() The question paper consists of 34 Q fr into four sectons A, B, C and D. Section-A comprises of 3
questions of 1 mark each: Section-8 ¢ questions of 2 marks each, Section-C comprises of 10 guestons of 3
wmmmSmw“md'CmgdlmMsem

(W) Question numbers 1 1o & n Secton-A are

out of the given four

{(iv) There is no overall chosce

(v) Use of calculator is not permiied
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four alternative cholces have been proviged of

Question numbers 1 to 8 carry one mark sach. For each 4
which only one Is correct. You the correct cholce.
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(A) (13

i (=3=7 (D) (5. 7)
\\Tmhmof&ntomnnotaduhondhhmu
equation Sx+3y=47?

(A) (-L3 ® -2

Q) (-5-7 ® 6-7
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(A) x4 =3 B x+2y+21=0
/ D) Ox+2y=3

(O) 0x+2y—21—0
2y =3 expre-ssed as linear equationin two vanables 1s
7

2 x4+2y+21=0
(A) x+—‘7£-3 (B) 2y

0 ox+2y-21=0 D) Ox+2y=3

&g |
- tw-ﬁ'm:omglt DE
3 faﬁwfrﬁuacf(p AB T AC g o

95%em (D) Slom
md -pomnt of AB and AC

i N (B) 62am (© 95em (D) S51cm
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¢ iR gV PQRS ¥ PQ =20 cm &1 Wﬂﬁmsquwuﬁwm
THH.
9em3M15cm &1 QREIHA T :

P! 0
(A) 12em (B) 5

(© 10em (D) 1em
In parallelogram PQRS, PQ =20 co. The altitudes corresponding to the

sidesPQandQRare9cmmd15cmrespechvelyQRwillbe:
. R
' 19

100

(C) , W a0

5 qﬁmmmwwmxmr Ay a7 AvEa ¥

v (A) 3o’ P 4 (B) 30 cn?
() 27 cav (D) o
If the total surface area of a cube i 54 gy, then its lateral surtace area is :
(A) 36 e’ ( H‘ 0 oo
(€ Ve PN By

6 uF wA ¥ san & frd e @t g uwn.mm!# M yaw fwam am

(A) 6em (B)  15cm ) 10cm D) Seam
A cubical box has total surface area as 600 ¢ m'Mtyr edge of the box is
(A) 6cm (B) 15 Q) ¢ lOm D) B8em

T A coinis tossed 500 times with the following frequencies :
Head : 235, Tail = 265
The coin is tossed once again, the probability of getting a Tail is :
(A) 050 (B) 047
Q) 045 D) 053
% fivae 500 TR Igven may Fawd firey antawand W -

fad. 235 T : 265
o= faFe! fR T& an 3gven T w2 3R ¥ v b

(A) 050 ® 047
) 045 O 053
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The mean of prime numbers between 20 and 30 is :

(A) =2 (B) 26
< 2 Do)
20 i 30 ¥ W19 F1 s weRsl W A &
A = (B) 26
© 2 D) 27

SECTION-B / av3s-¥

Question numbers 9 to 14 carry two marks each.

9 ABCD @& w#H™ wgw ¥ fowd sA=90°, ZB=55°, 2C=100" 3R
ZD=115°8| Tg %47 W ¢ 71 @ ? IW T gfe Ffow)
ABCD 1s a cyclic quadnlateral such that ZA=90°, LB=55°
£C=100°,
£D=115°¢ This statement is true or false ? Justify your answer.

10 Ascnwwnmn‘w-nco 10 con. DF = EB =2 con 37 AD = 4 em R
u(A.ECT")?HI‘Tf'WI

ABCDssupanllrloy-n mwhﬂ:w-tIO\.m DF «EB =2 con and AD = 4

co Find ar (AECF).
A > LB
1 /
/
1o~ C

1 @R F 0889 cnIFe ¥ ¥ 3T 7 m At 3 2 o =W 7 Forer
A F! 2% K W wwa ¢?

How many cylindrical iron rods 7 m long and diameter 2 cm can
be made out of 0.88 cu. cm of iron.
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12 Find the mode of the following marks (out of 10) obtained by 20 students
10,4,6,5,9,3,2,10,7,6,5,4,9,10, 10,3, 4, 10,6, 9.
Alvrwan H# 10 A giten | 20 faenfdai zra wa siF frafataa €

10.4,6,5,9,3,2,10,7,6,5,4,9,10,10,3,4, 10,6, 9,
TEAF A s

13

A die 1s rolled 300 times and following outcomes are recorded :
Out come 1 2 3 4 5 6
Frequency |42 | 60 55 53 60 30

e In a medical examunahion of -.tudrnf ‘t lass, the tollowing blood groups

are

recorded: S

Blood group ] A | 10
Number of students | 20 T

A student 1s selected at random from lhv tlias M the probability that

he/she has blood group A.
wmtﬁvﬁﬂ!ﬂmﬂﬁlﬂﬁqmmmm'iw
& 98 A |AB | B O

fenfetai #1 wam 20 [2 | 24 |10
W A 0% faundl ags sl ) 3 FfA 6 70% A ® wqe

At

SECTIONC / ¥v3-¥

Question numbers 15 to 24 carry three marks each.
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J feu My 91w % fero weitw fafEn | AAOR F1 T4 3 7A A

Ly o P
Write the equation of the given graph. Also find the area of AAOE.

pr
A

. o
J?/-3-2--10 12347

1% fgw Tt 204 3y =11 W y ® 5 & ¥ d s @) we g m
Fforg el R 7g WitH w1 s st s ) s

Express y in terms of x in the linear equation 21 + 3y = 11. Find the
pombwh«vﬂwlhwmtedbyﬂvmmby-ma\d x-

axis.

17 pgefmfr@mEssmRmmge et
Prove that the rhombus, mscribed m a circle, 15 a square.

wﬁ\pwcﬁmﬁmma=w,zc:75-mm;m

srm BC ™ Fa & g s A &
Cotm‘taAABmelnd\[B=fﬂ', /C=75" and the perpendiculas

fwmupwmxAlodubueBCtsScm

18
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19 foo o faa § pORS TF wWiR T B1 <P W £Q ¥ wHiLNHE FA
PO Qo #1 LoM Tan, pQ ¥ wwat ditht i &1 fag ¥ifum f .
() PL=QM () LO=OM

._S[ oI

M

P Q

In the given figure, PQRSasnpa-llelommnulmhu.ctséPnd
£Q respectively. Line LOM is drawn parallel to PQ. Prove that

(1) PL=QM () LO=OM

R

LS[ S /.\1

ﬁtzrﬁwftavr\{mmtmn fa7 sl ®1 W w o A vw e

S&W&ulhqu%“diamlhmthrml posnts of sades of a
sqweunbonaqujv

20

21 vm&'agﬁwf’adwommwmuwtn Hoa s w1
VO st yRE # e 25 cm 100 15 an ) 0w 3 F wnd nf o

qfael 1 ™ 71 & o4 too{%m dmy’ SRR T

A factory manufactures l;’O(DD mnh duly. The pencils are
cylindncal in shape, mhdlmjdl Jbzﬂhnmdm“nnf«m 15 am
Detamﬂweoﬂdcob\u‘mglﬁoqmdndmdthcpmnb

manufactured mn one day at T 0.05 pov;fdng,h

el
mtowmmdnsnhdn@tmmlﬁqhn&!nmw Its
curved surface is 3-oftheh:»tnlmnf-m-. Determune the radius of its

base and height.
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23 N
Given below are the number of seats won by different politcal parties

mn an election.
Political party A [B |c |D [E [F |
Number of seatswon |75 |52 |35 |42 |30 |47 |
Draw a bar graph to represent the above data.

4 fafvm oot wféai gro fest g 4 A w52 %1 s 2ot
14

T Afas et A B [c |p TE
ST TE W1 & A 75 |52 |35 42 |30

I ARSI B (AHGd S & [0 Th 5 A3 G0 |

F
17

N

N

-

24 The following are the runs made by 22 players m a one day crcket
series played between India and Pakistan
79,28,45,99,3,46,8,0,3,7, 75,24, 73,122, 46, 27,16, 7, 100, 3, 67, 33
ency distnbution table for the above data with equal

Construct a fre;
class intervals, oné 1ese bemg 0 — 20 (20 not mc}udcd__ ) L
VRA a4 TiTEEE (& B U fZasa &9 8 ) fgafed g s A =

qEnTH TFn T
2473122 4. 27,16, 7, 100, 3, 67. 53

A A HADH O W %23 I,

25

Draw graphs of x=0,y=0,1=2and y=1 | ﬁ the hgure formed

26, oz fag (4 3), o T 3x-ay=6F s WA ¢, A 79
Ffe fF #0 (-2 —6) W 78 serg W e @ 7

If the pont (4 3) lies on the graph of the Lmnear equabon
3.\'—ay=6,ﬁnd whether (-2 —6) also kes on the same graph ?

Draw graph of thus equahon.
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o F F9 F1 2 W@ AR DT TN E fF AB =6cm, CD=12cm

MAR D21 A AR MNCD F AT F A 3 @, T FT F
A Ffqu

AB and CD are two chords of a circle such that AB=6 cm, CD=12
cm and AB//CD. If the distance between ABE and CD is 3 cm, find the
radius of the cmcle

®  srgfa A, s ¥ PQRS TH AT T § 3 QR 1 B T T8 W
Tz T & 5 PS=BR & I fnzaﬁfnfmr(QAR) ar(SAB) ¥ 1

In the given figure PORS 15 a parallelograny .u.\d QR 1s produced to
point B such that PS= BR. Prove that ar(Q AR) = ar(SAB).
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30

AHf A ABC uF wwarg e &, POJAC & 3l ACHI RTF T8 95T
TN TN CR=PQ | fag Y ar(OPQ) =ar(OCR) ¥ |
A

AABC 15 an equulateral tniangle, PQ||AC and AC1s
R.so that CR=PQ. Prove that ar(OPQ) = ar(OCR).

B C
[n the given figure «f BCJ!AE and CD|[BE, then prove that
;ﬂABO =M(EBD)~E
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M WA F R STeR e ¢ R ag 2 sa vl § sow o alen el €
T T fayran frmm W@ 100 o @ AR e % e oy b S oE
frmma s Ao et ¥
frafafga ot § 730 2
@)  fopmm em w o e #nam i wE Swi oo m b
) a3 # wown @ sy fr o fem var @ wwa € oshowdad ® #R 8

wEn ¥ e T §
() oM WES ¥ 7T ¥ =@ fifa)
Twobroﬁm'sh‘ratn-tguhxplot. They decide to distribute it equally

amongst th ¢s byt also want to give away a triangular part of it for

charity to a schoo! wiith is attached on the base side of 120 m of the

(i) piddtbhﬂalﬂu%m’

(i)  Explam with the helpGl figure how could this be possible and what
type of parts do the beCih

()  What value of the two hrothers i depucted here ?

2 TF Sem o T2 7R W [ = tom T @@ U & IF T8
AEA F A TR vE @ Lr. " b W Ffa)

The surface area of a sphete of o 15 hive hunes the curved

surface area of a cone of radius &m g the height and volume

of the cone.

33 memhﬁy; o3 T F7ere & o v 30 4

% W= § fou fea $am vfen?

5
Ihevolunudtlrspammdoanghtcmlﬂmalhﬂay}-
m3 and 1ts height s 4 mu Fmdﬁnmv”rqmndlom-htluh\l.
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: Thefonowmgdahﬂwwsﬁudmlywdamdhﬂ-ﬂ
living in a housing society.
Daily expenses (swRs.) | No. of Famuhes
400 -600
600 — 800
800 - 1000

Drawaﬁa;umrypo!ygo#tonpmsa\l&td&h” o
wmmqmmqﬁmﬁmmm*ﬁ:ﬁmmzm

e
m - m 7.9;;‘
400 - 600 : y
600 — 800 | >
800 — 1000 1 -

7
12
8

5
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